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(1) 25 x (13 +8) - 12 (2) 15 - (-6) x 3
=25 x 2f -12 =5 (-4
= 52bH - {2 = 15-{— :(_8
- 543 = 33
(3) -18 + (-4) (4) {92 - (-79)} x 2
--18-4 = 171 x 2
=22 = 342
(5) 108 - (-9) (6) 169 = (-13) + 300 x (-13)
= {oR +0 = -3 + 300 x 13)
= 117 = -13 + (~3%00)
= -37913
(7) 13 x {86 - (-14)} + (-67) (8)-1312 = (15 + 17) - (-91)
=13 % {oo + (-67) = -1312+ 39 _(.91)
= 1300 + C67) = -4 -9
= 1233 = 41 49
= [Ne}
(9) {24 - (-81)} + 35 + (-121) + (-11) (10)6-{-116-(-18)) = 14
= {5 35 + (12D = (-11) =6-{-98t =4
= 3 + D= (11 = 6- (-7)
= 3 + 11 = {3

= 4



